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Cal. Gas Concentration × ambient pressure = Expected  value 

[0.05] × [760 mmHg]  = 38 mmHg

[±0.05] × Expected  value= ± tolerance (mmHg) 

[±0.05] × 38 = ± 1.9 (mmHg) 
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[concentration of cal gas] × [ambient pressure] = expected  value

[0.05] ×  [736 mmHg] = 36.8 mmHg

[±0.05] × [expected  value] = ±[tolerance] mmHg



[±0.05] × [36.8 mmHg]  = ±1.8 mmHg

[concentration of cal gas] × [ambient pressure] = expected  value

[0.10] × [736 mmHg]  = 73.6 mmHg

[±0.07] × [expected  value] = ± [tolerance] mmHg

[±0.07] × [73.6 mmHg] =  ± 5.2 mmHg


